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Direction: (From Q no 1 to 5) Choose the correct verb form

01.

02.

03.

04.

05.

06.

07.

08.

09.

10.

11.

12.

13.

If I got a chance again, I my best to achieve it.

(1) Would try (2) Will try (3) Can try (4) Would have tried
As soon as the bus blew its horn, I to run to catch it.

(1) Started (2) Had started (3) Start (4) None of these
IfI you, I would impress everyone here.

(1) Had (2) Was (3) will (4) Were
With this, you have lost chance that you had.

(1) alittle (2) little (3) the little (4) None of these
Prime Minister comes and the new policy.

(1) inaugurated (2) inaugurates (3) has inaugurated (4) had inaugurated

Direction: (From Q no 6 to 10) Choose the correct determiner:

There isn’t cash left with us.

(1) some (2) many (3) more (4) much
I need books you have for sale.

(1) some (2) the little (3) the few (4) the
Rahul wants money to buy a book.

(1) Some (2) A little (3) Both (1) and (2) (3) None of these
I received help from my friends to pass this exam.

(1) much (2) more (3) many (4) some

people always speak the truth
(1) few (2) afew (3) the few (4) none of the above
Direction: (From Q no 11 to 13) Fill in the blanks using suitable preposition:

India is located nearly east-side England.

(1) In (2) From (3) At (4) To
Varun has fondness  white dog.

(1) of (2) For (3) From (4) With
Anushka despairs  success.

(1) On (2) Of (3) From (4) By

Direction: (From Q no 14 to 18) Change the voice of the following sentences.

14.

15.

16.

17.

18.

I have always endorsed your decisions.
(1) Your decisions have always been endorsed by me. (2) Your decisions was always been endorsed by me.
(3) Your decisions was always being endorsing by me. (4) Your decisions had always endorsed by me.
The waiter filled the glasses with water.
(1) The glasses filled with water by the waiter. (2) The glasses were filled with water by the waiter.
(3) The waiter was filled the glasses with water. (4) The water were filled in the glasses by waiter.
The presents were unwrapped by Monty as quickly as possible.
(1) Monty is unwrapping the presents as quickly as possible.
(2) Monty had unwrapped the presents as quickly as possible.
(3) Monty unwraps the presents as quickly as possible.
(4) Monty unwrapped the presents as quickly as possible.
The migrant was bidden to leave the country by the authority.
(1) The authority bid the migrant to leave the country.
(2) The authority bade the migrant leave the country.
(3) Let the migrant bade to leave the country.
(4) The authority bade the migrant to leave the country.

Who is bothering you?
(1) Whom are you being bothered? (2) By whom are you bothered?
(3) By whom you being bothered? (4) By whom are you being bothered?

Direction: (From Q no 19 to 20) Find the appropriate meaning of the given idioms.

19.

20.
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‘What does the idiom “at sixes and sevens” mean?

(1) Disorder (2) Happy (3) Confused (4) Sad
What does the idiom “to keep the wolf from the door” mean?

(1) To have enough money (2) To have less money

(3) To be friendly with your enemies (4) To avoid someone
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21.  Velocity of light in vacuum is 3 x 10® m/s and the refractive index of glass is 1.5. The time taken by light in
travelling 3 km in glass will be

T (oA @9 ¥are 3% 10° fi/ (g o< Fiva afenaeis 1.5 23| (org Five 3 [l v wfees w4t (ozas
e v wfaE 2
o7y T STena @at 3% 10° /1 @3k Fieea aifermz 1.5 20e, Fieea sy 3 e e iteta s aeia-

(1)1.5x107s (2)1.5x10°s (3)1.5x107"s (4) 1.5x107%s
22.  An observer moves towards a stationary plane mirror at a speed of 4 ms . The speed of his image with respect to
mirror is

T R @4= T3 e vl wie 4 /g wiora 0ot witg| (S'e3 aifefaga wie wiraima Arrs fFam za?
G PRTTE GF (ZATZE A T wofr WS 4 i/ @wal AfefNa wirg | woitem AT oF afefraa
([ATa?

(1) 4ms ™' towards the mirror / 4 f5i/(z WA= Fita / wolter faeas 4 /e

(2) 8ms ™' towards the mirror / 8 /(2 witei=a Fita / vt s 8 /e

(3) 4ms ' away from the mirror / 4 f/GwTotwa F2dre / woitem e firs 4 /@

(4) 8ms ™' away from the mirror / 8 i/ GIwiTaa fA2i3re / oo fawidre e 8 /=
23. The resultant resistance between P and Q as per the figure shown is —
weTq AT 214 P e Q T Werd Awgen (Aty ey w4t

ovg foarai P @3 Q @ T AGeT (Y T -

‘iﬁgiﬁfH#' V‘Vﬂffﬂfi ‘Asaé;é%f
Q
(H2Q (2)3Q 3)6Q (4) 18Q2
24,  The colour of the sky looks blue because —
TR AR TeT FiRe -
TR AR T F -

(1) Sky is made up of blue colour particles
S < Tt a6 AT oifFe / =i T el Fe fwem aifve
(2) Blue colour is of longer wavelength
Tt qeq T (@R / T qefa Samer @A
(3) Blue colour is more prominent in sunlight
TeT A 2leid AHR (AAZTS (@R / TS A 3 (@A) wrrara 20
(4) Blue colour is of shorter wavelength so it is easily scattered by dust particles and water vapour.
et 26 ST Bib, (R FIAC YfeTaal S AR (BiiTe [et IR 72 [esoF Fa |
e qela samone o9 2ETR Yo © Ten s gt «f wRrer w23
25.  Which of the following does a dentist use to view the teeth for treatment?
wg femrme nied (J191 DiFt F(€ata, ©o1 (F ! 92 I ?
GFE VoA TS WICod DESTH Gty el @b I32E FCa 2
(1) Concave mirror / Saeel WiT2Aw/ S@e Fofel
(2) Convex lens / &&# (&1
(3) Concave lens / Sq@et (&1 / Sq@eT (679
(4) Convex mirror /T&& FTae / T@at wofel
26. A concave mirror of focal length 20 cm forms an image twice the size of the object. What will be the position of

the object for the virtual image ?
20 (gefits TR (A Q<47 IR VT TG GO a4 2oy 13 1a | (o0, ¥ vk 2ifefa A

TFIGLOIE TTE 29 ?

20 ATl R (T @@ H See Kol faed Siwita elfelay tofd 7t | wom aifefirsa T v o<z it 2a ?
(1) 20 cm (2) 30 cm
(3) 10 cm (4) Infinity / @&
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27.

28.

29.

30.
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Assertion (A): Safety fuses are made up of materials having a low melting point.
T (A): fFew i e g semia smidta oo |
@ (A): Frew form aremmicaa sl faca o =71
Reason (R): Safety fuses should be resistant to electric current.
& (R): e it (Aqes 2Rres iy W |
If& (R): frow ofe e[tz @ivtea st |
(1) Both A and R are true and R is the correct explanation of A.
A 9% R Te0a 7 1 R 020z A 3 #0F i
A €33 R Towt @) 3R R 281 A @7 A5 1|
(2) Both A and R are true but R is not the correct explanation of A.
A OIF R TotH 7] € A T 2F© i R 723
A @32 R To32 7e) &8 R, A @9 #6F ) 71 |
(3) A is true but R is false.
A 779 &€ R 90195 |
A %] g R et
(4) Both A and R are false.
A 9% R Tetm oo |
A @3t RTewz faegt|

Different objects at different distances are seen by the eye. The parameter that remains constant is
o 7ae wrafe fAfew 390aa 539wl (7l I | (TR ©o11 (FICo! o AT -
ffenag ot (Ut ffen rary Ate | arwa fFefafie @b s AT 2
(1) the focal length of the eye lens / 5 (FZd T FIR (W) / (BITAR (FCAA CFIFIH (0 |
(2) the object distance from the eye lens / 5F9 (RS 29| FTHIES 1y / (BICYF (19 (ATF IEI 14 |
(3) the radii of curvature of the eye lens / 534 (F+[2d SIS WG / (BITLA (L7 Ige! A |
(4) the image distance from the eye lens / 5§49 (F1«[21 24l AfSiaga oy / 7™ (ited (AT alfefrsa wag|

Concave Mirror

1

Examine the above figure and state which of the following option is correct?
[one small box in the figure is equal to 1 cm]
e~ frat oacs! 3w 14 & REewst AR Tledt - («bt 7% 3o = 1 cxsfiie)
e foafs 2R 303 7ow Tea fda weat | (Fra o3t =25 @ = 1 @)
(1) The mirror has a focal length of —6 cm and will produce an image of magnification +1.
WITAA 4T T 7R 07 —6 (e o +1 RRdaa afefs oo i1 / woltem crem o —6 i @3z f@da +1
(2) The mirror has a focal length of —3 cm and will produce an image of magnification —1.
WA 42 T 1R ore) —3 (wefois o —1 fada 2ifefa siom afe= / woftom e tre 3 oifl e e -1
(3) The mirror has a focal length of —3 cm and will produce an image of magnification +1.
VLA <47 T'Fig o) 3 (refite o + 1 Rasdera aifefas oo wf7a / woiterm e oy -3 @fs @3 fqada +1
(4) None of these / @Bl€ 7T / ¢F oS =1t
A myopic person uses a lens of power —2.0 D. What is the distance of far point of his eye?
g Mo ez 92 F9 @R e 2.0 D | (7% (S€9 53 Gaa efm F4i |
TGS T GG T& 2.0 D TSI GF {0 (719 I9ZIA I | OlF (BITH FARH 1A F9 2
(1)2m (2)4m (3)0.5m (4) 8m
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Consider these indices of refraction: glass: 1.52; air: 1.0003; water: 1.333. Based on the refractive indices of three
materials, arrange the speed of light through them in decreasing order.

(1233 &SR FI6© 1.52, IS 1.0003, 2IFS 1.333, G2 2AfSHam i @20 7T [SfE F1 MYaens (zTd
(39 YIS ACST Al |
et aifesmarz 5 1.52, MY 1.0003, T@ 1.333 | 92 S0k ffe Fta fenlt sy witena @uam Aos @ e |
(1) The speed of light in water > the speed of light in air > the speed of light in glass.
e (AZTT (@91 > ATS (oNZTT @9 > Fioo (oAigTq @l

A AR (@9 > AT AR (@9 > FIC6 A (@9
(2) The speed of light in glass > the speed of light in water > the speed of light in air.

Fio® (siigaq @9 > “AiAre (AigEa @9t > ATS (21ZTT @9

FICE SNTENR (@9 > GA AR @ > TS A @ |
(3) The speed of light in air > the speed of light in water > the speed of light in glass.

TS (SAIZTT @9 > SAiAre (oiigTT @9 > Five sz @l

TS S (@94 > T DA @94 > FIC6 SCeTa @9 |
(4) The speed of light in glass > the speed of light in air > the speed of light in water.

Fioe (siiga @91 > ATS (5iIZTT @9 > “AiAre oz @
FIC6 ST (39 > IAYTS ACEAF (@9 > Geet Seeta @4

For a metallic conductor, current (I) versus voltage (V) graph is drawn at two different temperatures 7; & 7, from

31.

32.

the graph it follows
e @bl AT 9rga V - 1 (19, ¥5! feaTaee! T, =% T,© WSl (27| (S0 -

ora 4o oifsa2e ofee 2@z (1) 93 o9 arema (V) eiva g6 for wiomma T, @92 T, (8 (it 2eaes|

Y A
I
Vv
1 ;
» X
] —>
(OT, =T, @71, >T,
3T, <17, (4) None of these / 518 72 / @& e 7t

33. Select the correct sequence of light entering the different parts of human eye
23 5 o7 SIS 2ta=! F41 (7A1ZFT @& Fo! Bl 4 -
it ffem et witea etarem Ffos @ 204 -

(1) cornea, lens, iris, pupil, retina

(2) pupil, cornea, iris, lens, retina

(3) cornea, pupil, iris, lens, retina

(4) cornea, iris, pupil, lens, retina

When a ray of light falls on a given plate at an angle of incidence 60°, the reflected and refracted rays are found to
be normal to each other. The refractive index of the material of the plate is:

afea auie (oiizaa AP @49 (2T 60° (FioTS Tivifee 27, (efen afewiere 3t ui< afenfae 3t 95! wTeE 7y

27| (ST (259 2AferaediT Fam g ?
T 60° (FITH GFB SATCEAFAM] AF (0 2WE (26 2o 27, afewiere ez aferye af s et A, (25d

TR eferaz 2a 2

(1) ? ) 1.73 3)2 @) 1.5
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34.
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35.  Whatis the color convention for live, neutral and earth wire

TG, THIA S S AN O 1 qERE (FP 0! R JIRE FA T 2
wze, fegE @3z wid Sitaa efbfers ax @ -

(1) red, black, green / q6l, F'&1, GRESI! / =11, FITe, IS

(2) red, green, black / q6l, GREG!, F &1l / =111, 7, FCeT

(3) green, black, red / REGI, F'a1l, A1 / IS, FICe, 7

(4) black, red, green / &=, q¢€l, GGG / FIA, 1, 7S

36. An electron enters a magnetic field at right angles to it as shown in the figure. The direction of force acting on the
electron will be

oae W4 WA G5! ARG 949 (BT CFaS FTHSIA 2 F(A0R | TERGR 8219 (& Tt qo7a e 23 -
AT @ TR (BT TSI 2 T | R T2 2 T (FAWCS A 2

—

Magnetic
field

Y

electron
(1) To the right / Gif=reita1/ Siwes
(2) To the left / A ewieta / qAwes
(3) out of the page / #BI< qifZata / 2lfeia Ar2rA
(4) Into the page / 9[51? fooats / vireia (oot
37.  Which of the following describes the common domestic power supplied in India?
TEE (FICHICA SAE T (@9 43| (@Ages *Te Ioiw ?
Freferiire @@ SRTs A4 JFa [y Faanea @) 2

(1)220V, 100 Hz (2) 110V, 100 Hz (3)220V, 50 Hz (4) 110V, 50 Hz
38. A charged particle is moving along a magnetic field line. The magnetic force on the particle is

G5! WY, QU FFFCTAR AL AR 9IS F =) AYGE oS e e -
GFH WES FA FrHFTFa (@ IATR 5 | FA(67 T2R fFarie (Fraaaa 3 203 ?

(1) along its velocity / fea @t fwxre / F=ifba aifea wf%{m

(2) opposite to velocity / 5ifea erz5! e / afeq eeita

(3) perpendicular to velocity / 9fea sTgeita / F=ifba 2ifea [AoFre s

(4) zero / *[=1;

39. Assertion (A): Charcoal is better fuel than wood.
& (A): F7e1 FIIOLF ©ie1 T |
TS (A): FIA (673 F! STe G |
Reason (R): Wood is smokeless and leaves no residue.
& (R): F19 (HAEW o= @ wae «of fiwe )
& (R): FITI (ATF (A (79 T IR (I SR AT |
(1) Both A and R are true and R is the correct explanation of A.
A 9% RT3 7% 9IF R (20 A I 0% 147 |
A €33 R TOTR A7e) @R R 281 A @7 A(5F 1|
(2) Both A and R are true but R is not the correct explanation of A.
A R Tern 79) [F€ A 9 2@ i R 927
A @32 R Tew2 79 5@ R, A @7 #{5s e 71
(3) A is true but R is false.
A %] g R =979 |
A 7797 f&g R e |
(4) Both A and R are false.
A 9% R T e |
A @3 R Tewz faet|

Admission cum Scholarship Test - 2025 / Date — 09-03-2025 / Set— A / Class - XI

AJMALZLX




40.  Each of the resistors in the diagram has a resistance of 12 Q. The resistance of the entire circuit is —
e (el 2fSTs! ([@¥Fa (@Y 12 Q| ISACHIE ATGE (Y T -
awe fora 2fefs @iwaa @iy 12 Q| Fma I$AHa @iy 203 -

_M_

>
>
3

e
-
-

>
-
-

AAA AAA
wyY wy

AAA AAA
vy vy

(1)5.76 Q2 (2)25Q (3)48Q) (4)120Q2
41. A student while heating solid lead nitrate taken in a test tube would observe

ae frm i Fom T A%Gs 68 Toae 9w i vere @I ot el 714 -
T RS (G F1o7 (eTe AIREE AN FAIE A w7 FACE -
(1) White residue of PhO, / PbO, 33 w@t=a / PbO, @3 A R8I

(2) green residue of NO, / NO, 3 GRegat s@ee® / NO, €3 A& SR Biest

(3) yellow residue of PhO / PhO I TR S€*E / PhO €7 TW SRATHBITH
(4) Brown residue of NO / NO 3 5T Si€e=ra / NO @7 Siora S giet
42. Green coating on copper in rainy season is due to the formation of:
i FreTe ohE esiae TR @I CReE! w9 (2% -
FAFICH O ToF TS W2ae (ofaa Fiae 2o -
(1) CuCO, (2)Cu(OH ), (3)CuCO,.Cu(OH), (4) CuS
43.  Assertion (A): chemical reaction becomes faster at higher temperatures.
& (A): Tws Siemare il [ woee 21|
& (A): Tws oA amalae e woea 21|
Reason (R): At higher temperatures molecular motion becomes more rapid
(& (R): T Sionare o ifs woea 271
(& (R): T Siomam s aife woea 271
(1) Both A and R are true and R is the correct explanation of A.
A 9% R T3 7% W% R (20% A I A0F 147 |
A €32 R o2 @) 3R R 281 A 7 A(5F 1|
(2) Both A and R are true but R is not the correct explanation of A.
A 9 R et 719) {58 A 7 2iF© il R 727
A @3z R Tewg 79) fag R, A @7 Ao 77t 73 |
(3) A is true but R is false.
A 7] g R ooy |
A 7797 &g R e |
(4) Both A and R are false.
A 9% R Tod <o |
A @3z RTewz faegt
44. The p" of soil is 5.5. In order to increase the pH, a farmer would have to add which of the following to the soil?
W4 p! 29 5.51 G2 p"' 3% Fa9 AR e @ TAmE Mite Gre e Fi<a Aifae 2
W4 p'' 2 5.51 @2 p" 3% T T GFTH FIF FHEARS @ TAWEDG AHA AT (@ FACA 2
(1) Acetic Acid / af6fos «afoe/ wmfds wnitte
(2) Slaked lime / 5%
(3) Sodium Chloride / 5f&a™ Faize / GEifeam @F@iRe
(4) Hydrochloric Acid / 2izggies «foe / Frgigis wite

45.  Which of the following pairs of acids and bases can result in a basic salt?

Fafefe @m e afoe o< Fieq 29 T E @196 (one S ?

e @ e Spifie @3 w9 (A0F FERE Th9 (odl 20O 2AtE ?
(1) HCI and NaOH (2) CH;COOH and NaOH
(3) H,SO, and KOH (4) HCI and NH,
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46. Although metals form basic oxides, which of the following metals form an amphoteric oxide?
Tfre g2 FT TALE %on 303, Ffaie @ s uiez Ty omizs 4o i ?
Tfme rowl Fadm SRIRE 9w Fta, e @m el Toaud iz 9w Fata ?
(1) Na (2) Ca (3) Al (4) Cu
47.  Generally, non-metals are not lustrous. Which of the following non-metals is lustrous?
FYAOTS TPl [&fefe Mt | vora @it sy [&fefs it 2
Ay wYesie vavE 2w a1 | fnfafie uuvelem Yy @b vavee 2
(1) Sulphur / ReT&q / AlTTFE (2) Oxygen / SfECE / SIS
(3) Nitrogen / 128 &/ TGS (4) Todine / =nafs / wnaifes
48. The composition of aqua-regia is:
A 5o (202 -
(1) Dil. HCI: conc. HNO, 3:1 (2) conc. HCI: Dil. HNO, 3:1
(3) conc. HCI: Cone. HNO, 3:1 (4) Dil. HCI: Dil. HNO, 3:1
49. Match the columns I and II

T G TS 4 S et -

Feferfe & i@ w7z o @it ere
Column I (Reaction) / ‘&’ @izt (&fema)
1. Hydrochloric acid + Zinc

Column II (Product) / ‘4’ =iest (Be24%F)
a. Sodium sulphate + water

ZREgle afte + o SIS QT + 2l
e wite + G e TS + T
ii. Sulphuric acid + Sodium hydroxide b. Calcium chloride + water + carbon dioxide
QRS GbT + RfGAT ZRgIRE DA FALT + AR + T ToTH T
FAfreae st + @ifean gzgaze FATT FRITC + T + FIA-TeTHLE
iii. Acetic acid + Sodium bicarbonate c. Hydrogen gas + zinc chloride
«fofoT «fbe + wftam AZEs TR T (9% + T Faie
ifE SiTe + Eifea IR ETH ZhRegiem i + o @iake
iv. Hydrochloric acid + Calcium carbonate d. Sodium acetate + water + carbon dioxide
ZiRggleE «foe + @@l S Bfemi aforss + A + FiT-s-omze
YT EF SHIOTE + FFAmEm FIH6 S wniftess + wa + FE-vRTETe

(1)i—c, ii—a,iii—d,iv—b
(3)i—c,ii—d,iii—a,iv—b

(2)i—b,ii—d,iii—a,iv—c
4)i—d,ii—c,iii—b,iv—a

50. Identify the unsaturated compounds from the following
TETS fE A 2@ SRS (oA o F4 -
ffefee offt 2 woroje et e s -

(i) propane / &t
(iii) propyne / &#ifzH
(1) (i) and (ii) / (1) ==e (ii) / (1) €@3% (ii)
(3) (iii) and (iv) / (iii) == (iv) / (iii) @R (iv)

51. Which of following is double displacement reaction?
©od (FiCo! fasreiaet fafe 2
Frefertee @m faefog = it e

(1) Zn (S) + CuSO, (aq)—)ZnSO4 (aq) +Cu (s)
(2) Pb(s)+ CuCl,(ag)—> PbCl, (aq)+ Cu(s)
(3) Na, SO, (aq) + BaCl, (aq) —> BaSO, (s) +2NaCl (aq)
(4) Both (1) & (2) / (1) == (2) GTaint / (1) @3 (2) Teag

52.  Which of the following is ionic compound?

(ii) propene / &5

(iv) chloropropane / FI2AT2M / (FCARTHA
(2) (i) and (iv) / (if) & (iv) / (ii) €3% (iv)
(4) (ii) and (iif) / (ii) @ (iif) / (ii) @3 (i)

Frfefee @ e cee

qtva @ wEfE el e
(1) Na,SO, (2)H,0
(3) CH,,0; 4) CH,
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53. Take 2g silver chloride in a china dish. If this china dish place in sunlight for sometime.
The colour of the silver chloride changes from -

B et e 2g fertea Falze @iat 29| Tt Aerew g e A e oo frml 2@, oot feTeie Faiea
sfeafse R za -
a5 ST o 2¢ Prerer @FaiRe (e | T @2 vl fenib FgateR o 7rda Sitents el 28 o3 Frere
(FAEres e a2 703 -
(1) white to orange / IMS 2[F1 FI=T| / AWM CATF FeTl
(2) white to grey / 3919 2I<l 479 / AW (ATF 7K
(3) white to red / 919 2191 F€ / AW (ATF #[&
(4) white to green / J9i14 #Ia EGT / AW (ATF TS
54. Chemical formula of washing soda.
FITAR (4 TR AT 7@ 2 -
SR CICA I 74 -
(1) Na,CO,.10H,0 (2) CuSO,.5H,0 (3) CuSO,.2H,0 4) CaCO,.2H,0
55.  Aldehyde functional group in carbon compounds is —
woTe frall FE (qore GeTioRize T (oI5t 2'e -
s orewl 1A (Tiest iEvRiRe FEal o 2 -

c _H —C— — C—OH
(1) -OH 2) 3 4
No (3) (II) 4) (Il
56. This two metals will melt if you keep them on your palm
vy 4y Tree AAfTe oife 7, @ 419 5iay 2rs -
41g W2 FTe SIEIre AT (T T, G 41g ¥id 21 -
(1) Al, Na (2) Ag, Rh
(3) Pb, Bi (4) Ga, Cs

57. A solution has a pH of 4. What will happen to the pH if a small amount of NaOH is added to it?
@5 %3¢ pH 4 | Tfw A #ifawied NaOH Zare catet fwat 23, (otg 201 pH 3 & Aemet 232
@& Bared pH 4 | T A=y AAfFwieed NaOH cael F41 28 ©fgta pH @ F oifeqes 2ra 2
(1) The pH will increase slightly. / pH 3isie5 3@ i@ / pH A=t 3% #Iita
(2) The pH will decrease slightly. / pH #SI=5 2™ 219 / pH A=) &1 2itd
(3) The pH will remain the same. / pH @32 &4 / pH 71w AR
(4) The pH will decrease significantly. / pH ﬁvgwr@ F D/ pH TSI T A

58. If an element "M" is located in Group 2 and Period 5, which statements about its chemical and physical properties
are correct?

T @Bt (e "M faSimas o 59 RS Sy 2, (org @ st [yferm Tk e o (Sifes wafa Tt
#fow ©ita At Ffea 2
Tt @B et "M (@ 2 G AT 5 @ SRES 27, SIRTE @7 AN IR (ST 4 AAE (@i it Ao 2
(a) "M" has two valence electrons and typically forms a +2 ion.
"M" Y5 (ATl ST ATF T +2 ST 919w FTA |
"M" Q46 (TS ZERE ATF G ALANS GF (6 +2 W (O FA |
(b) "M" has a lower electronegativity than elements in Group 1 of the same period.
2o 1 T Gt safTa ToAmEE gemre "M 1 fagie et #9)
(WS 1 @7 @F2 “aa cieeler e "M @7 ©fte et F|
(c) The atomic radius of "M" is smaller than that of elements in Period 6, Group 2.
"M"  AeEE G 6 AR 2R i 39 2 T TAWTCAEE TEAS A |
"M" @3 efrasefaE e o 6, (¥idt 2 wa Cieefa e (=iTht |
(d) "M" is less reactive with water compared to elements in Group 1 of the same period.
39 | T G2 AT TAMAER gerre "M Sita (ire F faferaie
G AR (WS 1 @7 CTeefer wemm "M Stea AT F [ |
(I)a,c,and d only / (F91 a, c <= d / ¥Y a, c ¥R d (2)aand conly / (F9eT a ¥ c / ¥Y a ¥R C
(3)band d only / (FF& b= d / @y b @3z d (4) All of these / @IfB2 (#2051 / FAQTEL
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59.  Which of the following statements best describes structural isomers?
ToTd (o1 fRgfera sigw TraSe AFeicd qr Fa -
w7 @t YR Momere Famare A SITATSa 39 Fa 2

(1) Compounds that have the same molecular formula but different physical states.

arFe AeifE 79 g fon (Sre wag) 0w (@i |
a7 Tl @ g (ore w1yl fom|

(2) Compounds that have the same molecular formula but different connectivity of atoms.

& o weifeE @ aree g 2T At fom
@ (TR Si6RE @ 32 T8 7R A fon
(3) Compounds with different molecular formulas but the same number of atoms.
fon widfee Tage T8 ar@e YT AGEe @9l |
@ (Toefera wicfas 7y fon g #@mda A @2

(4) Compounds that are mirror images of each other.

9t & BiE o1 wireled 2ifenf |
e T T SoitEa afensq )

60. Which of the following observations help us to determine whether a chemical reaction has taken place or not?

e (FICH! oRfrTwel @ qpatae i wibe o1 7R oiw Fufad sfeata e w=w wa e
RS @@ Rl S A [ 9o [ i ot fMdEe Fare e FE 2
(1) Change in colour / 9&3 #Af4q% / A 97 AfFaeH
(2) Evolution of gas / (o1 fsfe czfat / = fefe zem
(3) Change in temperature / Sto[i@T #Afqe« / Stomiary sfaae
(4) All of these / SIBTZ (FLB! / FRALTE!

61. Who have a perfect pair of sex chromosomes?

T (SO (RIS (T TG T AGE (A (2N A2
Tea @FFHCS (T (@PACHTH AGE (ST AR 2
(1) Girls only / (91 (R4 / @Y (CAWA
(2) Boys only / (F961 5741 / ¥y (R(ETWA
(3) Both girls and boys / &’ ai-(=AIa FTAIG! / (5 93 (A TSR
(4) Tt depends on many other factors / @i+ RETa eoiae fea Fta / aft o+ [FatTa Tom Fee #ea

62. The process in which small portions of the oviducts of a woman are removed by surgical operation, and the cut
ends are ligated is

1 aifeFmie v B xR weia Fw o F16 Tlerea 20 @i w61 3@ ¥6! A% Wt 27, o il

@ eifeFarn fTFaet (NS (RITH! oI SCFIPIBITEI MU A (Tl 20 9% Fio! TSI 3% F91 28, OF e |
(1) copper T /%5 6 / &'oifa (2) tubectomy / oeraa53t
(3) vasectomy / (STGFG3 / (STACSISN (4) diaphragm / 1475271

63. When a animal is cut into pieces and each piece grows into a complex organism. What is the process?

T (FICT @B AT de-de T 77, ©IF 2AfSTH! WX 2111 B 2ol G7 AFe =7, corw R AfFGE F @i
T @ @F 6 AT GHeal- T T T G 2 it (2 aF o G sifve zn, vizre ER afFEh F e

(1) Budding / S[FteTWaS / JFCEAWAN (2) Fragmentation / fqeeie / Qea
(3) Spore formation / (394 TG / o oer (4) Regeneration / 2[«1a &4« / o[rafer
64. Which plant hormone inhibits growth?
T (FITCH! Za T T e A e 2
(I TR ZACA TIewma I ALierg FCa 2
(1) Auxin / =3[ (2) Gibberellin / fEtatafem / frmicafem
(3) Cytokinin / 525 Fi2f / ARG (4) Abscisic acid / @abF afbe / e afte

65. TUCD is for
IUCD 359ze 27 -/ IUCD J7%e 21 -
(1) Vegetative propagation / Siigfeie fa@iac / <o eietaa Sy
(2) Contraception / & famrget / srefaicya Ty
(3) Increasing fertility / &&= Fro] ﬂ'f?ﬁ
(4) Avoiding miscarriage / E9I® 7ZALe / ASANE ATITAR Ty
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66. A diabetic patient suffers from deficiency of which hormone?
T TYTIZ (@A FICH! 2T T4 SIS (STt ?
T IE (AN (FI LA TSI CSMeat 2

(1) Thyroxine / 2AZa¥@ / AAE= (2) Testosterone / (6BLBA / (BTIBIFHIA
(3) Estrogen / 2Zt& / QTBICET (4) Insulin / !Q‘TIE%T{ /e
67. Which of the following processes does not require ATP?
frefertere @co! afeFare ATP 9 eftarem 721 ?

e @im afeaE o ATP eitarem 23 1 2
(1) Active transport / Ffeea #faazs / Afern faazs
(2) Diffusion / 9™
(3) Endocytosis / @reitizs ez / aremizstzm
(4) Muscle contraction / (2Rl ATHIG / (ot FTFH
68.  Which of the following events in the mouth cavity will be affected if salivary amylase is lacking in the saliva?

% weTioe 4t (gfereif wnizreTer weiq 27, (9% I srEe wea (! afem eeifae 2 ?
AT AL GECETE T AFCE T2 TR (@I To110 2SS 27 2
(1) Starch break down into sugars / *& 4t (6ftet #ifasre cziat / *=Faa fbfire Fwsielte #ai
(2) Proteins break down into amino acids / 2f6 «@fSizt afbete sifacte ziat / 2o snifitat «fire #ffads zemnt
(3) Absorption of vitamins / fEBifsma (=i=et / fEbifTTa eeiraet
(4) Fats breaking down into fatty acids and glycerol / 5/ (=6 «foe =i famiasitat sifaere i/
5 w6 winifire «ak famiae wfaere zent

69. The rate of photosynthesis is not affected by -
Frfefe @I TAmIE AtE FReRes 29 eeifie Tea ?

TN ACEACER 2 w4l efeifae zzm |
(1) CO, concentration / CO, I 97g / CO, &9 T] (2) Temperature / Si?i =&t
(3) O, concentration / O, FETg / O, GF ITg (4) Light intensity / (51294 Sige! / ST St

70.  What are the products obtained by anaerobic respiration in yeast?
TR SRS HIR TS (& fF AW Teoim 2 2
TEOA SRR A (T AAel] GRAT TH ?
(1) Lactic acid + Energy / (zie (6% «foe + *if@ / suiehs wife + «fe
(2) Carbon dioxide + Water + Energy / Fida-Slzo#ze +4iia + *f& / Fidv-siz-ommze + o + *fe
(3) Ethanol + Carbon dioxide + Energy / 22ii9e1 + FE-S2-S3HZE + &
(4) Pyruvate / #[2%0eh / 2([2FCeh

71.  Which of the following is not a function of medulla oblongata?

Ffefe @t oo sqeralitE Fw w27 ?
Freferee @M Grge S@eRaibE Fie 71 ?
(1) Control of heart rate / Zw~ewe fags (2) Sneezing / 2>
(3) Coordination of movement / BT« F[qH (4) Regulation of breathing / ®7-epgi fiaget

72. A plant gets rid of excess water through transpiration. What is the method used by plants to get rid of solid waste
products?

Tfew wfefae #at eitvwea MU fsfe w0 | Fio waerEmR Sieais Tiem & sl g s ?
e el Te etawias MY (79 IR | Ffow I8 AR T TRGW (F1 afe J321F T4 2
(1) Shortening of stem / Fe: B (=1 / Fe (RTH! e
(2) Dropping down fruits / T 7_ / a1 /TS ST
(3) Shedding of yellow leaves / Z@&! #ire A< 2/t / 2% “iret I
(4) Expansion of roots into the soil / Mfo® =i epaet / Miwe wiea €ita zoita
73. ___ isnot a biodegradable pollutant.
 ahl R AR/ aF T (TR 2wEs a9 |
(1) Paper / Ftre
(2) Cotton cloth / F2IfZ Firoia / Al Ftore
(3) Cotton / T2 / 9&1i
(4)DDT /fe e &
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74.

75.

76.

77.

78.

[AJMALEIITE

The image shows the excretory system in humans.
RS MzA FrEw a9 (et (x|
foats ez e e s a6

A

What is the importance of the labelled part in the excretory system?

el Fragie X- S Fiw & 2
e aiftrs e wixioa ewg Fi 2

(1) It produces urine

T I GRAT FCA /A S FCA
(2) It filters waste from the blood

2 (ST #[3 WG (B (27 / T (AF I8 Ay FR
(3) It stores the urine till urination

2 G T FiE AT/ @ T 0 A

(4) It carries urine from the kidney to the outside

2 3% *[A1 A% @ FOAE (@ A/ 3@ (A0 @ A foew a

Proteins after digestion are converted into
&foa =i (2, 51 Folga 2T |
TETTE 2A (Ao @ FAGES 27

(1) Carbohydrates / F4ZI2CE6

(2) Small globules / 79 7= 2'get / (RITH! (=IO (e

(3) Amino acids / @it @foe / Snifseat =nitre

(4) starch / (H9=19 / (4K

Mendel conducted his famous breeding experiments by working on the following;:

GIeTs weTs fra (@ f[ama evas i 3ie e et eieem 213wz veefe 2
e @Aba T7R 3% 703 e OF [T e #7F Tz #AfsEm Fafegem 2
(1) Drosophila / (Gt / cQEifFat (2) Escherichia coli | rFABH 612/ QrFalm F2
(3) Pisum sativum | 2\ZRIW (5oer / o Giiberm  (4) All of these / SBTE (FL6! / FALTE
Which of the following is a primary consumer in a food chain?
TETe WAl (FICH! <M %jR¥eTq @bt efjAfiE (e 2
FrEITes T @A 4 WSTeT it TAreTe! ?
(1) Tiger /3= (2) Grass / 9fz /9™
(3) Deer / Zfet / 2fRet (4) Vulture / %t / g

In a cross between a pure tall plant (TT) and a pure dwarf plant (tt), all the offspring in F; generation are tall
because-

e fAwg € (TT) O qui fAws 51913 (tt) Tera Aere AFae THita, F, 2era 7oE I14d 84 27, Fiael -

@b e 719l TEw (TT) 3R 31> Fem A SIYR (1) G S0 AFAACA T F | SGTHA TG I0014A 791 28 el -
(1) Tallness is a recessive trait / @2 Qob! B! SNAfee ¢AMTy / =1 297 G wfere (A
(2) Tallness is a dominant trait / €2 QeTB! @Bt 24 (AT / o791 26T G 24w A4S

(3) Dwarfness is inherited from father

Bioia @etht fres Teaifieia i 2l / et 9141 1% (AF Teaifewa e et
(4) Dwarfness is dominant / 51919 @eTH! @bt 2iyie (8] / FreTe! 2y 2
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79. Analogous organs have

TGO SRANEATS (A8 T -
(1) Same structure, different function / GTFE 1o+, foq 1% / @3 1w, fom w1
(2) Different structure, same function / f& 15w, @tz F / feq 19w, @2 FH
(3) Same structure, same function / ATFE Ao+, ATHE FTY / GF2 5197, GF2 FIH
(4) None of these / «Bte 7127 / @& e
80.  Which of the following limits the number of trophic levels in a food chain?

ToTe TrEd T4l [Renea fowae (@it < *jxeera Gire waa Akt Fifire Fra
Frferfres sty @M < e §is goa A Ao Fea 2
(1) Water / 2Ift / &1
(2) Polluted air and water / §f¥® A W< i<t / §f® g @3 &
(3) Sufficient food supply / #i® W) FIAAIZ / 2@ U] FAAZ
(4) Decrease in energy at higher trophic levels /&t G B4 *f& 2% / Tw s Ba «ifea g™

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

.
oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

81. The king, queen and jack of spades are removed from a deck of 52 playing cards and then well-shuffled. One card
is selected from the remaining cards. The probability of getting a club is :

ST 52 A FIT HAT T, AN A< (AT Aoz ARt FiE s Sieis fggaa =11 Fie
(@R 7 Q4 FIT AR (A (20| FIEL B (2@ Feifeel 279 -
52 6 SIo™ @3 “INTF6 (AF THRER A, AN 8 TF (F A (et A oelens aFe ki
@S TF, TP T (AT GF 6 FIE BiTe T4 20w, G Hivw zena wEiw == -
(1) B (2) 19 3) 2 C)) L
49 49 49 49

82. Given triangle PQR with RS bisecting ZR, PQ extended to D and £n a right angle, then :
weTe fwal APQR 9 £R 9 7% RS, PQ F D (1 e F41 (202 W% £n &b TCFI, (ST
APQR &, RS, £R (F %2 Fa @2 PQ 2@ D 21T 3(He Fa1 261 @32 £n G ANCHI4 O -

R
P q d
P S Q D
1 1
(1) Lm :E(Ap—éq) 2) Lm :E(Lp+4q)
(3) £d =%(Zq+ép) 4) Zd:%Am

83. In a class of 100 students there are 70 boys whose average marks in a subject are 75. If the average marks of the
complete class are 72, then what are the average marks of the girls :

@Bl (WAS100 PAZRAT 70 T Bq (SSTETIFS @bl [TqTe AT 799 75 | W WTHZ (HNHIF T 799 72 T, (ST
Rl IFETq G THA 2 A -
100 T« Pridia @@ (HATS 70 T BiTad @6 [T el T9eaa a1e 75, qf wrld (69 o) THEE o 72
2, 73 RAIWA Qi 2 THEA AT FO A ?
(1) 73 (2) 65 (3) 68 (4) 74
84. Ordinate of all points on the x-axis is:
X - STFQ FFCENAR T @& 23 -
X - SCFA TR I8 Tvd &I 2@ -
(Ho 21
(3)-1 (4) any number / RTHITH AL / FCHICA 7R
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85. If one angle of a parallelogram is 90° then it is a :
T BT AGTFT BT (Fiel 90° 2, (STT 2 @bl -
T 9o ARfET @I @Fiet 90° 27, o7 «fb -
(1) square / 35{ / 3TFq (2) rectangle / TS / ATOTFA
(3) trapezium / @roifera / Grit=ifers (4) None of these / «Bte 7127 / @& e

86. Find the measure of an angle, if seven times its complement is 10° less than three times its supplement
@B} (FIerd T e F41, TM (F IO 7TFA Ao, (FOsR T7Fa [0 goels 10° F 27|
T GFH (FIR T (FIOF OB O FHHF (FICOR oA (BT 10° T 2, O@ & (FICOF T (A -
(1) 40° (2) 25° (3) 30° (4) 15°
87. The perimeter of a rhombus is 20 cm and one of its diagonal is 6 cm long. Find the length of the other diagonal.
Bt TR AT 20 cRefiie = @Bt Fef W 6 cefiie, WG Fof vy Fefw F=4)
20 Gt #ifei [ @ Rfies aa b Tt e 6 Gt 2re, vl e e 203 -
(1)4 cm (2) 6 cm (3) 8 cm (4) 10 cm
88.  Sum of twice of a number and the number itself is 84. Find the number.
BT FRATIT GO TS (3R FRANCH! (A9 FIACA (NI 84 T | (STT ALANCH! Fefw w4t |
@ AT 8 OF Tawted (Torwet 84 Fe, WA 204 -
(1)24 (2) 42 (3) 28 (4) 14
89. In the given figure, CD || AE and CY || BA. If ar (CBX) =k ar (AXY) then value of k is :
weTe fal f6@® CD || AE®II=E CY || BA | T A (CBX) I CFaT, A (AXY) T CFATe k & T, (SC8 k I

29-
e orewt B, CD || AE @3k CY || BA 13 A (CBX) @3 CFawa, A (AXY) €9 (RIS k O T, O(F k=2
C
D
B X
Y
A E
(1)2 (2) 4 3) 1 (4) 172

90. Tickets numbered from 1 to 40 are mixed up and then a ticket is drawn at random what is the probability that the
ticket draw has a number which is a multiple of 4 or 5.

13 7131 40 T 999 g BFb ais =1t fefer {4 ©iq 24t qifyies ©ita @4 B=6 #1ta GReT @hie
TH9 4 924l 5 3 efies (@IEE TeEETel 29 -
1 (ATF 40 * 71 7@ B el fifica @ araitt eita Ak w4t 71 Bfecsa A 43t 5 @q
fTes 267 T Fo ?
(1) 1/2 (2)2/5 (3) 8/15 (4) 9/20
91. The mean of 5 numbers is 21. If one of the numbers is excluded then the mean of the remaining numbers is 22.5.
The excluded number is :

551 4TI 9SG 21 | Wl @bt 4Tl I Tl 2 corw A M (F2D1F AT 22.5 27 | I fwwt et fefw w54t -
5 MR 9T 211 T @B WL IW ST T O SR IRAFISTEAR T 22.5 TF, $F I @SA 7o
F9o?
(5 (2) 10 (3) 15 (4) 20
92. Ina cyclic quadrilateral ABCD if ZA — £C = 70°, then the greater of the angles A and C is equal to:
@5 b bgest ABCD I LA — £C=70°, (T8 £A ¥ £C q [ooqe TIeq (FIeTHIF 17 29 -
&b FEI 5ees ABCD T TM LA — £C = 70° TF, O@ LA @R £C @ () J2&4 (FI6IB (A -
(1) 95° (2) 105° (3) 125° (4) 115°
93. The angles of elevation of the top of a tower from two points at a distance of 9m and 16m from the base of the
tower and in the same straight line in the same direction with it are complementary. Then height of the tower is:

@5t 5119 SRR #19t 9m WiF 16m Gage 4t 5! W1 219 BIAIRTBIR Ata1 Tom (Fiel 751 5/ | DI
Tl (20
@S GISATTF SHICATTF 9 BB € 16 Ti6E via w[&Ee b 79 (AF GreAF A@Aqa Care @i ot

@32 Yo 7 @2 AT @2 WS AT, @R R @i AfReTE 20, Slenitaa Twet e F 41
(1) 12m (2) 15m (3)20 m (4)25m
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94. If3'=69 and (23" = 69 then find —+—.

Xy
ﬂﬁ3xz69was(23)y=69qa,ml+lwma’a-
Xy
ﬂﬁ3X=69Lﬂaa(23Y:69ﬂ,wl+lmm-
X y
(Ho (2)2
3)1 (4) None of these / @ble 727 / @& o€ I

95. IfR, and R, are remainders when x> + 2x* — 5ax — 7 and x’+ ax’- 12ax + 6 are divided byx+1andx—-2
respectively and if 2R;+R; = 6, then the value of a is:

T x* + 2x% — Sax — 7E x*+ ax’— 12ax + 6 F x + 1 A® x — 2 (I [T FACe SAHT FCH R, A€ R,
TE 2R AR, =62, (ST a AT LT -

W x> + 2x% - Sax — 7 @32 X°+ ax’— 12ax + 6 (F x + | @32 x — 2 B ©i% FACE 2AIS SNT IAF R, €92 R,
2, 9% M 2R +R, = 6 T, O(F a GF 3 2[4 -

2
) 3 (2)2 (33 (4) 4

1
96. Four different electronic devices make a beep after every 30 minutes, 1 hr, 15 hr and 1hr.45 min, respectively. All

the devices beeped together at 12 noon. They will again beep together at

St o eTa R TR @ 30 S, 1 99, %mm 1 %1 45 o arauiTe Sxe e | T
IIGIRCFL0! TB2 12 IS ATFEIs T20RE W, (90T TH TF (FLHI3 (F O ATFea T2 W ?
vl fon reagine foeizm veiw afe 30 5, 1 %91, 1%@@:1@45&%@%9@%%,%

fTeien wofF 12 B qaatite == Frafee, Sl SFE F49 G =% FA(E ¢
(1) 12 midnight / Strerfept 12 Bt/ gt 12 5 (2) 3 a.m.

(3) 6 am. 4) 9 am.
97. Itis given that cos X = cos y and sinx = — sin y the value of sin 1994x + sin 1994 y is equal to:

% cos x = cos y I sin x = — sin y (ST sin 1994x + sin 1994 y = ?
M cos x = cos y @ sin X = —sin y 9, O(4 sin 1994x + sin 1994 y = ?
(1)-1 )1 3)0 42
98. The base of a triangle is of length ‘b’ and the altitude is of length ‘h’. A rectangle of height ‘x’ is inscribed in the
triangle with the base of the rectangle in the base of the triangle. The area of the rectangle is:

ot fagera i e b =% Tafed O h, x Thela @bt wiTe fageto fooae wiwew w7t (2 Aits fagea
il % wiied $fYl Ot 21 | SiesE Fife1 29 -
@ fagred il b @3z Tobet h, x Tove! i @& SiTersa fagrem foor aam itd wifFe 41 7 @ oF

b h b
(1) f(h - %) @) f(h - %) 3) f(h ~ 2x) ) x(h - x)

99.  If the roots of px* + 2qx + r =0 and qx* - 2./pr x + q = 0 are equal, then -
W px® +2qx + r=0TMF qx* - 24/pr x + q = 0 ANF AT S Yo AN T, (ST -
W px® +2gx + 1 =0 3% qx° - 2/pr X + q = 0 97 AT TN 2, O -
(Dp=q,r %0 (2)2q=\Jpr 3)pr=q @) 2p=fpr

100. A box has 210 coins of denomination one rupee & fifty paisa only. The ratio of their respective values is 13 : 11.
The number of one rupee is —

@5 AIFGS | TR S 50 21Z5IF 210 B T4 =12 | 3201 et e i@ Sgetre 13:11 | 20e1 @F 5ot swia

A9 -
@S0 ACH 210 6 GF € 507N FCHA TR, MW YCENF SAGATS13:11 | OF BT FCHCCE FR4J F 2
(1) 75 (2) 76 (3) 78 (4) 87
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101. In given fig. O is the centre of a circle and ZAOB =140°, then LZACB =?
oeTe Al IEoIE (F® O e LAOB =140, (ST LACB =?
ewe fora O Ffes Jeq L40B =140° =&, LACB =7

C
/"\
A

(1) 70° (2) 80° (3) 110° (4) 40°
102. The sum of all two digits numbers each of which leaves remainder 3 when divided by 5 is:

5 (3 [Ty FRCE SIAT 3 (A AFCENAIE 5! F R[S ARAJE (@i 29 -
T VR WCED AN TS [elH T, (TS 5 %A ol FACE SieieeE 3 7A -

(1)952 (2) 999 (3) 1064 (4) 1120
103. If Sy, S,, Ss, ..., S, are the sums of first n terms of r arithmetic progressions whose first terms are 1, 2, 3, ... and
whose common differences are 1, 3, 5, .... Respectively, then the value of S; + S, + S; +..... S,

T S1, S5, Ss, .n S, CRCR 1 WG 29T n O 2 (9T TS 22N 2MTAF (22 T 1, 2, 3, ... A ALi=el
@R (B A 1,3,5, ... (@S, +S,+S3+.....S, AN T -
W S), Sa, S, ..., Sy, ¢ AAGA 29T AT n AR (AT T, (AT LA A TAGC 1, 2, 3, ... @3 FALRES
Ay TAFEI 1, 3,5, ... T, @S, +S, + S + ... S, &F e T(4 -

) (nr- 1)(nr+ 1) 2 (nr + D)nr (nr - Dnr n(nr+ 1)

5 2 3) s 4 >

104. A person walks towards a tower. Initially when he starts, angle of elevation of the top of the tower is 30°. On
travelling 20 meters towards the tower, the angle changes to 60°. How much more has he to travel to reach the
tower?

OT TRICZ €GB! BIAER FCE (A Fi Col ATz | (@fom (98 WAg F(eE (oot HIaawsia Aatel Tom (Fial
wifRet 30° W 20 m (AT PEe Tom (Fiol 60° T'eT | (TR (98 BB “A1atet i< [Fiw Tat Ffeq «ifaq 2
TG e G GleTEa T 250R, T (1 ©F F7F, 94 BISTE MIa Twho (& 30° &=, 3
Bremitaa fwes 20 61 2oE o1 @I~ 2rm 60° 27, Sizre blenia 1w (=it Sits oI F© va
Z{5re T ?

(1) 103 m (2)10 meters (3) 20 meters 4) % meters

105. The centre of the circle passing through the points (6, -6), (3, -7) and (3, 3) is
(6, -6), (3, -7) == (3, 3) AL 217 (2 (WA ISR FHH! 24 -
(6,-6), (3, -7) @A% (3, 3) T =iA! SfowIT Jred (F(HA T T4 -

1) @3,2) (2)(3,-2) (3)(3,-2) “4) (3,2)
106. If the line segment joining (2, 3) and (-1, 2) is divided internally in the ratio 3:4 by the graph of the equation
x + 2y =k, the value of k is:

T (2, 3) W (-1, 2) % AR @ARGF x + 2y = k (AT @O AR S(F 3:4 Tpoifes o T4 |
(ST k I 29-
(2, 3) G2 (~1, 2) 9% Qi1 FTE FETRATE x + 2y = k (@ 3:4 TS TGRS F4Ca k @7 M e 41

5 31 36 41
(1 r 2 F 3) ) 4) rl

107. 748 cubic cm of metal is used to make a metallic cylindrical pipe of length 14 cm and external radius 9cm. Find its
thickness.

748 99 (RfSle 4T 9L T GBI P&l NFTo 2if2ol tomi< T4t (202 TR v 14 (2efie =< 3fZe Feis 9
WARHEIE DR K
748 T (AT 419 LA I 14 G A @ 9 (S Af2e et [{f*8 «a b yieq e (ofd 4t 28, ot @@

G TS ?
(1)2cem (2)2.5cm (3) 1.5cm (4) 1 cm
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108. ABC is a triangle in which AB = 4cm, BC = 5cm and AC = 6¢cm. A circle is drawn to touch side BC at P, side AB
extended at Q and side AC extended at R. Then, AQ equals.

ABC @5t f§g% T°8 AB = 4cm, BC = 5cm @i% AC = 6cm | BC ¥ P f377s =i 41 @Bt g€ o 41 2,
AB 3ig@ Q fawtat Wii® AC qieS R [F9tat i Fa 25| (90’ AQ =2
AABC & AB = 4cm, BC = 5cm '€ AC = 6cm| & (6 36 BC 1S P [Fre =K F7a0%, AB (F Q @3 AC (F
R 7@ F2AIfE® T4 261, ©1F AQ @ i -

(1)7.0 cm (2)7.5cm (3)6.5cm (4) 15.0 cm

Comprehension (Follow the instruction and solve Q109 to Q111)
In the diagram DC is a diameter of the large circle centered at A, and AC is a diameter of the smaller circle
centered at B. If DE is tangent to the smaller circle at F and DC = 12 cm.

oot fral foae A (F% T@ ©ed €l DC Ui i O B (FHYE A J&Lo1d AC GUIE 13 | 7
IEHI4 F A DE Guia =1%(& 9% DC = 12 cm |

e forg A =ftre 32ea 3rea IE DC w3k B (e Fuea Jrea I AC | 9f F 997 DE Fwea
e T T, @R DC =12 cm |

109. Find the length of DE?
DE F 07 e vt -
DE @3 (s fefa w4 -
(1) 8/2 cm (2) 10 cm (3) 742 em (@) 62 em
110. Find the length of BF?
BF 1 (e feiefar vt -

BF @7 oy e 54 -
()4 cm (2) 5cm (3)3cm (4) 6 cm
111. Find the area of triangle BDF?
ABDF 3 Sifet faefa &t -

ABDF @3 CFaee fefa 4 -
(1) 92 em’ ) 332 e
(3) 161 cm? (4) None of these / dBl€ 727 / @& e =t

112. A circular metallic sheet is divided into two parts in such a way that each part can be folded into a cone. If the ratio
of their curved surface areas is 1 : 2, then the ratio of their volume is:

Q2 FEIFIF 49T “ATeF YOI SloIe ©i9l F41 (2= TS AAfSTHIF S1IF it T« «bi *5F a1 HE S i1 7fr
< WHI4 I P FIoTa TS 1 : 2 TH, (ST *ICFYBI SO S#I1S T4 -

@S 4ied JeIF “fers 12 oits iow F41 2R, Tte Afeh AE @ *Fre e w41 A | T ol
IFOETE CHFATCET] S AT® | : 2 T, O(F OItME ATOCd HeJ© F© ?

(1) 1:8 2)1: 6 3)1: 10 #2:3
1 1 1 1
113. Thevalueof1+\/§+\/§+\/§+\/§+ﬁ+ ........ +mls—

1 1 1 1

1+\/§+\/§+\/§+\/§+\/Z+ ........ +m33ﬂﬂ§’3-
1 1 1 1

1+\/§+\/§+\/§+\/§+\/Z+ ........ +mmmm-
(Ho (2)1 (3)2 (4) 4
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The radius of the large circle is equal to the diameter of small circle. If the area of the small circle is 13 m®, what is
the area of the shaded region?

e TGO G I JSLBE A1 #1918 Tl | T 719 JBeoia Fifet 13 T 21, (o =ta wige g Fife
?9q-

(b I Jred I (=I5 Jred [T T | T (=l Jreq CFawe 13 IR W, 9@ BT AREE
CFGT TS ?

(1) 55 m’ (2) 48 m’ (3)39m’ (4) 26 m*
In a Cricket match, Kohli, Rohit, KL Rahul, Suryakumar & Jaiswal scored an average of 36 runs. Surya scored 5
more than Jaiswal, Jaiswal scored 8 fewer than Kohli, Rohit scored as many as Surya & Jaiswal Combined and
Rohit & Rahul scored 107 between them. How many runs did Jaiswal score?

Q4 {0 (deTe (@R, @RS, .99 AT, THFAE E (SRR M el 36 T | TAFANA (TRAETOF
5 i @R T (TRAIE (FIRfeTOlS 8 qd T3 FCH, WK AN (JIfR0e JHFANE A< (SRAICe AeE2 F4t 0T
T el FE A (TS @ AL GrFers! 107 e FCA | (S0 (T2IeTa o el Fwiey 2
a6 {6 s @i, @ifEe, & 9 T, TENT IR TTASTE 0T 36 A FCAC, 7T, TEACTEF
(5T 5 AW @M G2 TEASTE (R (BT 8 AN I FACR, IR (@RS 0% 7 ¢ srmenitar Afers
W REAT FA @R (AR 8 AE @FANL 107 A FCACR, O SEAGAICETA (B A AU F© 2

(1)25 (2) 30 (3) 15 4) 20
If the sum of squares of LCM & HCEF of two positive numbers is 3609 & their LCM is 57 more than their HCF,
then the product of two numbers is —
T 5! 4TI AR TS T AT T I9(Q AT 3609 BT AT WBIF T2, NN 9T 57 @,
COCT TR MBI 2[FeITeT 29 -
V% YIS AR 1. 3R AN, GF T (S 3609 IR SIHA FALL SIWF AALG G (6T 57 @R
oI, @ 76 M LT T ?

(1) 360 (2) 609 (3) 180 (4) 810

6n x 22n % 33n
The value of —————— ="
30" x37" x2™"
6}'1 % 22}1 % 33}1 6}'1 % 22}1 % 33}1

n 2n 3n aﬂm-/ n 2n 3n Lﬂaw-
30" x37" x2 30" x37" x2

(D1 (2) 35" (3) (0.3)" 4 3"
The sum of probability of an event E and probability of the event not E, is always equal to —

&5 FBl E T AGIt i< 961 E 729 Ao cateiwe |

(T GoE TSI E @92 i [IA9r® 9619 TSI 7S Fmi -

1
(H-1 21 (3)0 (4) 5

10% of 15% of 20% of 500 is —
500 519 20% 9 15% 9 10% 39 -

500 BIFIE 20% @9 15% @7 10% 34 -
(1) Rs 0.50 (2) Rs 3.50 (3)Rs 1.50 (4) Rs 2.50

If sin x zg,cosy :%,then the value of tan x + tan y will be —
. 3 12

T smx=§,cosy=E T, (O tanx+tan y YT 29 -
) 3 12

WM smx:?cosy:E T, O(F tan x + tan y @9 T« T(F -

7 5 11 6
(1) 5 2 o 3) " Q) >
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: REASONING / fagfag / fawfag

b °
©00000000000000000000000000000000000000000000000000000000000000000000000

If in a certain language ‘KINDLE’ is coded as ‘ELDNIK’, how is ‘EXOTIC’ coded in that language?
7% Bt ATFEF Sranre ‘KINDLE’ F ‘ELDNIK f&l 2, (er® ‘EXOTIC’ % & fdi '3 2
Tft @& Fifte S ‘KINDLE’ & ‘ELDNIK’ f&taita (a1t 4%, ©td ‘EXOTIC’ (3 & ©ita (=14 qia 2
(1) CITXOE (2) CIXOTE (3) CITOXE (4) CXOTLE
Find the ODD one out from the given options.
weTe fwal f9g) r2d #1a Sifsees! Afe lenedt |
Troa RFgera Wy fou e @@ T
(1) BD (2) CE (3) MN (4) EG

Ten observations written in descending order are 45, 34, 32, 30, 2x — 13, x + 1, 17, 15, 14 and 8. If the median is
24, then find ‘x’.
Sy faTelt Wbt oRfTael 29 45, 34, 32, 30, 20— 13, x + 1, 17, 15, 14 9= 8 | 7% T4 24 (STF x° 4 T4 Tfereqi|
vifS it SMs@e (et 2R 45, 34, 32, 30, 2x — 13, x + 1, 17, 15, 14 @32 8 | 7t 9459 24 27, O3 “x° @ A=
FTORq?

(1) 15 (2) 18 (3) 20 (4) 12
In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best fit(s)
logically.
o4 2RITBTS Yo! e fwart @it o< wie w51 Prare fwat (zrw | wafes et ot et ant w41 -
@2 2re it 3T orewl 2R W3R ©itE 7R 1 Pl (rel zrate, @ Pl (fifeweitd 34 Sita s
F03 ©f FRafoa F41
Statements: / Tf&

1. Some bags are chocolates. / fFgaIa (39 5wtets 27 | / 7Fg g9 2Tet o eein

II. Some cakes are chocolates. / g (F% 5516 27 | / 73 (&% 2= 5wtetd
Conclusions: / Frai®

L. All cakes being bags is a possibility. /

FFCACAE (FF @9 (A TG AR/ T @ 19 Zr Ad Gt «a o Feiaa

I1. Some bags are cakes. / fFgaw @9 (&% 27| / fFg 9 2t= &5 |
(1) Neither conclusion I nor II follows / &g I =i 11 @Bl 7127 / (&It Traigz srme w02 =it
(2) Only conclusion I follows / (%3¢ Pra@ 1/ wyEia Prarg [ SepeE« Fa
(3) Both conclusions I and II follow / F1&i® I =i 11 qraists /Ten g sep@s F6a
(4) Only conclusion II follows / (F3@ Fraig 11/ @y Frarg 11 Sepe« 90
Find the wrong number in the given series.

weTe fwal (HACHR “=1 wieTs! AR Tlered
firoa A wi=ifore wo Ak e @@ F4
246, 232, 220, 204, 190
(1) 220 (2) 246 (3) 190 (4) 204

Ravi travelled 4 km straight towards south. He then turned left and travelled 6 km straight; he again turned right
and travelled 4 km straight. How far is he from the starting point?

3faTa wiwret e 4 km 1@l #1119 #itge B 31GwiTa 91 == 6 km 3@ s & @ Eiwee g€ =< 4 km
Tt e | (o€ wrasia e #[t e e @it ?
T4 wiws e I 4 km (991, @917 G AT IOA 6 km (917, AT (3 KR T IL 4 km (917, SIZ0e (1 019 ST

(ATF T FTA AR ?
(1) 12 km (2) 8 km (3) 10 km (4) 18 km
Which of the following will best complete the relationship given below?
TETS fra FRH! 2o F 4 2
e et T=ofFTs sl a2

BF1J : DHKL :: LOQT : ?
(1) NVSQ (2) NQSV (3) NSQV (4) NQVS
The radius of a circle increases by 5%. What is the percentage increase in its area?
Bt F&1 TP 5% e 27 Jeoia Fifar fawia *otet IE2'a 2
&b JUeA WY 5% I (AT, OIF CFaTe F© it I AT 2
(1) 10.5% (2) 10.25% (3) 25% 4) 21.5%
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129. If x =2%and x* = 2, then find the value of ‘y’.
T x = 2" o x* = 2 7, (Sr® ‘y’ IMF 2|
M x =28 @3 ¥ = 2¥ T, O3 ‘Y’ 97 M A
()1 )2 (3) 2% 4)2"
130. If4@9#3=1and4 @8#4=2,then5@6#2="2
TM4@I#3=1NE4@8H#4=2TT, (MBS @6#2="
TM4@I#3=19RI@8HA4=2TN,SE@5@6#2="

(9 2)5 (3)2 46
131. How many times do the hands of a clock coincide in a day?
T8 HIE Fo1 ¥oI= fwmcore feiara fifere =a e
GFT TEIF FIo! A FAF GF W27 AL Ffere 27 2
(1)23 (2) 12 (3) 24 (4) 22

132. Which of the following calendars will be the same as the calendar for the year 2003?
TETS WAl (@61 5R (TS 2003 59 (FCAGE I AT ?
TCHA (FA FICEASEAD 2003 FATER TSR O 9L F(A ?
(1)2014 (2) 2013 (3) 2012 (4)2011
133. In a certain code language, 'she is beautiful' is written as ‘mat mug bit’, and ‘beautiful and water’ is written as ‘bit
cap lan’. How will 'beautiful' be written in that language?
T 9B ALFEF SAWCS 'she is beautiful' F ‘mat mug bit” < ‘beautiful and water’ F bit cap lan’ &7l z3|
(ST (372 SIS 'beautiful' *¥a e F 232
& e MwFieF ©F 'she is beautiful' 14 27 ‘mat mug bit’ farota @aR ‘beautiful and water’ (=14 2
‘bit cap Tan’ fBra, o738 @ ©EH 'beautiful' & ©Ita @4l aita 2
(1) mat (2) mug (3) cap (4) bit
134. Pointing to a photograph, a person said, “she is the daughter of the woman who is the mother of the husband of my
mother”. How is the lady in the photograph related to this person?

T TG B FCHIEATFCE SGTAR FCA “(STLS (A M FTA AT GHal” | FHIEAFCHIS 4F e qFa (e
& R T &2
¢ 24w e il 63 waem e 9o, “G1 ok Tewm e, [ st sitra widte 17, oz wf[{e At
WfZenfs @ afe Fza?
(1) Sister-in-law / TR / SreTaa B (2) Daughter / Graat / Tt
(3) Aunt / (2%} / oI (4) Sister / ©4t / @
135. From among the given options, select the word which can be formed using the letters of the given word.
TeTe Tl RFEPIZa 2141, 2WE *IH(5A SrFarad AR F14 9107 F14 2141 *=To! AR Tlereat |

fva (hemt *% Qe T (@D 2ME *THa S AT IR %40 F A AT ?
‘NEUROTOXICOLOGIST’
(1) DAUGHTER (2) HURT (3) GET (4) TOUGH
136. Select the correct mirror image of the given figure when the mirror is placed at MN as shown below.

weTs fwm MN Witolits Teom w4t aifsfaTie 2'3-
eoa Hraa wfie afef Fdivn T 799 MN 2t @ o @i 23|

CLkv38z
M N
1) CTIKAESS @ CIYA3B8S
3 CIKA38S @ S8EVHIIO
137. Find the odd one out.
wfserst Aifg Tt |
Rree w= i gg|
(1) Kohima / ¢if&st (2) Imphal / ¥
(3) Guwahati / @912i5! / @ (4) Dispur / fweoa / fawiom
138. 148, 150, 156, 168, (...)
(1) 174 (2) 182 (3) 176 (4) 188
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139. In the following figure, the circle represents all the people who prefer Pepsi, the square represents all the people
who prefer Coke, the triangle represents all the people who prefer Limca and the rectangle represents all the people
who prefer Dew.

weTe fwal foators, JETHITA Pepsi ©F (7ii1 MTRCAE w{120R, 397BITa Coke ©F (7 M2ras wiizre, fagertona
Limca O (2/i31 TZRIEE W*20% A AFSTHITE Dew ©IF (211 T2 w2z

v forw, Ieb R 798 TTEwa ToZoF FCa T Pepsi Aww 04, ICFAD (18 7T JISWa SHZA T2 Tl
Coke 2Iz% 73, faow(s (R e HiEwa ToZ2M T3 T4l Limca 25w 03 99 STOCRA (R 7S J1EWa GAZ7
T4 9F Dew 21%% 94 |

~—1 P

q

Which letter represents the people who prefer only Dew and Coke?
9 (FIC6! 392 Dew W% Coke F (AR 2141w Wl Mra<s qoiers -
(@ & BYEIE Dew @32 Coke AW F1A ITF (FI IF ST FCA ?

(Dr (2)u (3)b ®q
140. Look at the given figures and find the odd one out.

weTs fra oarara (oiat S STt Aty Tlered |
Tea (redt Hawlem s o Hab fw @@ Fw¢ |

) A /a\ A
3 5 7 6 5 8 2 9
(A) (8)

(€ (D)
(1)B 2)C (3)D 4 A
141. Which word will best complete the relationship given below?
TS fwan TRETH! o)l wfatet Aow ==t g Tleve |
s oremt oA Ts o) T AR T (@ =TS HACHTA TAE 20 ?

Japan : Green Pheasant :: India : ?

(1) Sparrow (2) Emu
(3) Peacock (4) Parrot
142. When a natural number ‘n’ is divided by 4, the remainder is 3. What will be the remainder when (2n + 3) is divided
by 4?

afS AT ‘n’ F 4 (A 9 FECA SN 3 A TN (20 + 3) F 4 (@ 9l Fare steieeE fF 292
T F R A 0’ F 4 A Sl FACA ST 3 ATF, $E (2n + 3) (F 4 QA Sol FACA ST 2O ?
(M1 (2)3 3)0 (4)2
143. Ina 200 mrace, P beats Q by 35 m or 7 seconds. What is P's time over the course?
200 31519 (9@, P @ Q F 35 fibIM 91 7 (3 W® 2191% 04 | G2 P 9 w7 fasiie 2
@& (% 200 B (TS P, Q (& 35 filbia Al 7 G 21T ©Izrel P @3 79 (e (19 Fa19 79w T ?
(1) 36 seconds / (RFe / CFS (2) 47 seconds / (R[F% / CFS
(3) 40 seconds / (RFe / CFS (4) 33 seconds / (=< / CFS
144. If ‘ROPE’ is coded as 6821 and ‘CHAIR’ is coded as 73456, then what will be the code for ‘CRAPE’?
T ‘ROPE’ & 6821 fo1al 70 =i “CHAIR’ & 73456 fo1dl 23, (91® ‘CRAPE’ % fawra forat = 2
Tfr ‘ROPE’ (& 6821 &A1 @3 ‘CHAIR’ (F 73456 74l ACFS (Req! 24, ©@ ‘CRAPE’ @7 AIFS F T4 ?
(1) 77246 (2) 76421 (3) 77123 (4) 73456
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145. Sneha wants to go to the market. She starts from her home which is in the north and comes to the crossing. The
road to her left ends in a park and straight ahead is the office complex, and market is located direct opposite to the
park. In which direction is the market to the crossing?

(V2R IS 1 e | O (e 19 21 wiat wiws T b Teawite St Wi FRkie Wit 2l | ok
JNGTFITA SAATH! AT (ol (1T T SN (AT (AT SoiTe Sd FAC2H WA TCF6 A4 o [o1dire waize | wiwa
(@5 e T <4 =itz 2

VRl AT (T BT | (7 AT (AT T T3, T Ted Wes walFe gar @& Fgmiargea (g, ©iF 3w 2t @ st
TR (A6 @6 T B e 28 @aR CIE AN GF (6 W FACH AR, ATHED 2AFa 6 [ofive w@ige, o

ALAIEE (AT A @ e i ?
(1) West / #Af*5xt (2) South / wfEe
(3) East/ %@/ 9& (4) North / Ted / Te&a
146. If the numbers 1 and 2 are interchanged, 3 and 4 change places and also the symbols x and +, then find the value of
1+3x2=+4.

TR | =i 2 A7 Go! ATt a1 27, 3 WE 4 (7 FF Aot FCa O x A + B @it et 27, (ore
1 +3x2+43AFTF|
MW AR @R 2 (F ATF QAT T SWeT vel T4 T, 3 G3R 4 IR Fie ATTT8q B0 @R x @R + 26T wlene ome
WA FA T, OEE 1 +3 x2+4 GF I« FA|
(1)3/2 2)3 3)14 (4)12
147. Put the proper symbols +, —, %, + in the blank spaces to fit the equation.
+,—, x, + formes weTe fra AMFEEre qATL e 26T TS ANFIC6! AdF 27 |
How eliwefd +, —, x, + e g IFw" AN AT 79 F41
(18 _3) 7 15 _5=0
(1) =T (2) + %= (3) X (4) =% =
148. If4$4#2=8and3§8#2=12,then7$6#3 ="
A4S 4#2=8M®3I$8#2=122W, (LTT$6#3="2
TMA4$4#2=8qRI$8H#2=12 T TE@TS6#3="
(H 11 2) 16 (3) 14 @9
149. A family consists of six members P, Q, R, S, T and U. There are two married couples. Q is a doctor and the father
of T. U is grandfather of R and is a contractor. S is grandmother of T and is a housewife. There is one doctor, one
contractor, one nurse, one housewife and two students in the family. Which of the following is definitely a group of
male members?

@51 AT we W T, T P, Q, R, S, T i< U | 29 Y61 word! WtR | Q O& Tie oiiw T 9 (Weois |
U, R 339 OI1% a5 awia| S, T 3 ozt aga 928 | @2 wAfmiere aom ures, agm emia, g @i, aga 9fzat
I T BiE TR | ToTe WA [oqe (FIs! @bt 249 7e i (oifb -
a3 AfFATaa e 799 AR P, Q, R, S, T @3k U| G1ots ufb [@ifEe (oot aag| Q @ e ¢ T a7
ret 1 U 2z R 9 7Y @32 e v | S 20 T @7 i3 3R 9% 9jf2a | oiffaitas aaem bieews, aaem
formia aaem w7, aae i @9 e wiE A, e off my @wb Aiveeia @ omm wenme v o
(1) QUP (2) UT (3)QU (4) QUT
150. If2"=4"=8 and 1/2x + 1/4y + 1/4z = 4, then the value of x is:
W2 =4 =8 1/2x + /4y + 1/4z =4 T, (ST@ x N[ 2] -
W2 =4 =8 @3 1/2x + 1/4y + 1/4z = 4 2T, O3 x &3 N A -
(1) 7/16 (2) 719 (3) 717 (4)7/23

ook sk skok
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Incredible Performance by AS 40ians

99 ., YA 99.:3 99 05

Percentile Percentile = Percentile L= Percentile
HUMAIRA TASNIM ATIKUJ ZAMAN INDRAJIT TIMUNG O 2 SAKIB ASHRAF

98.95 98.92 2\ 98.52 98.59 Y2 98.15 98.15 @98.12

Percentile Percentile - Percentile Percentile - Percentile =, Percentile Percentile
AL SAJID KHAN MIZANUR RAHMAN SINAM J. CHANU HIMANTA P. SAIKIA NAVID NAWAZ < MARUF AHMED MINHAJ U. BARBHUIYA

98.06 3 97 .99 97 .93 97 .90 97 .70 97 .54 F 97 .22

Percentile Percentile Percentile Percentile Percentile Percentile Percentile
MD ALI H. HUSSAIN SWEETY CHOUDHURY POLO PAIT MOSADDIQUL HOQUE MAYANK PANDEY RIHAN AFRID ' ZABIR ANSER M.

97 .05 V&) 97.02 Y =) 26.35 Y- 96.55 V=) 96.75 V=) 20.70 =) 26.¢:

Percentile Percentile > Percentile = Percentile = Percentile Percentile Percentile
Q
MAHMUDUR RAHMAN MOSADDIK ALOM ISHANT SAPKOTA SAMIUL ZAMAN MD YUSUF JAGIRDAR MASUK AHMED ASIF AHMED

96.60 96.60 ‘&96 55 g 96.50 96.49 Y42 96.37 Y2 96.35

Percentile Percentile Percentile Percentile Percentile Percentile Percentile
RIZWAN AHMED MANJAR HUSSAIN KOHINOOR A. LASKAR 5 M. ABDULLAH ASHRAFUL HOQUE e MANDEEP HASNU ! RONAK K. THAKUR

96.29 96.27 96.26 Y42 96.12 Y& 96.05 YA 9D5.97 95.92

Percentile Percentile Percentile ! Percentile - Percentile = Percentile Percentile
GANAJIT SARKAR ATIKUJ ZAMAN TAHSINUL HOQUE SHIRIN FARHANA - KALIASH POUDEL IBADUR RAHMAN ASIFA NAZNEEN

9533 VEXY 95 .62 9552 95.50 95 50 - 95.40

Percentile Percentile X Percentile Percentile Percentile Percentile - Percentile
FIRUJUR RAHMAN B. M. MUAZ LASKAR SHORIFUL ISLAM 4 ALVI FARIHA PARTH DAHAL NASIR HOSSAIN ASHRAF UDDIN CHY.

95.37 YA A 95.37 95 .30 95.20 95 15 95.11 94 .21

Percentile Percentile Percentile !’a Percentile -3 Percentile Percentile ; Percentile
ASIF ALOM \ FARHAN MAHRUJ v JABED SULTAN SUSRATA ACHARYA Nt SUHAIL AHMED FARHAN A. ANSARY MD. K. AKMOL LASKAR

ﬁ94.81 94 .50 : _, : -\ 924 56 94 .40 94.12

Percentile Percentile (oA Percentile - Percentile : Percentile Percentile . Percentile
MISBAHUL HAQUE CHY SHORIFUL ISLAM A\ MUKTADIR AL FIROJ "“‘ ABIR MEHNAZ NAWAR | 4 PRATIK DHAKAL RISHAN HUSSAIN AAYAN NIROULA

94 .04 VEXT A93.ss 93.56 YA : 93 66 93 55

Percentile Percentile Percentile Percentile Percentile Percentile Percentile
TASDIK ALAM KOUSTAV J. NATH TARIF AL SHAKIR RIMA UPADHYAYA 4 MAYESHA ISRAT B. HAFIJUR RAHMAN M. g RAKIBUL ALl

93.22 Y-\ 92.90 YR D2.70 92.02 Y& : N92.58 9257

Percentile Percentile Percentile Percentile B Percentile - Percentile : Percentile
SOURAV SHIL V. A. RAJJAK MUSTAFA i SALMAN AHMED KHAN P RUPANTAR GOGOI . RAHAT HASSAN MAZ. b4 KHUSHI DEVI ABYARTHA BARUAH

922 Y& MD2.36 Y= 92.08 91.97 91.96 Y& 2 91.30 YA X 91.75

Percentile & Percentile Percentile Percentile Percentile Percentile . Percentile
HABIBA TASNIM \ MD ISMAIL CHY. S. BIN ABU TALIB A NACHIM A. LASKAR { AMIRUL TALUKDAR RAJIBUL HOQUE NUR ISLAM
£5 » i

91.7: Y& 91 41 91.23 90.ss 90.ss 90.20 90.70

Percentile Percentile 4 Percentile ¢ Percentile “ Percentile Percentile E Percentile
- MAHAMUDUL HASSAN RAIF ARMAN LASKAR MEHNAZ LASKAR ‘ GOWSUL AZAM “:D » KOUSIK DAS SAJID AHMED U FAHMUN AHMED CHY

90.68 : 90.15 90.00

Percentile Fercentlle Percentlle Percentile Y Percentile
\/ RAHMANA P. TALUKDAR £ SK. RASEL GANGA UPADHYAY \U T; { MASUD RANA RABBANIL & AHSAN AHMED

AJMAL FOR EDUCATION, EDUCATION FOR ALLl.
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